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No. of Questions : 180

UgHl @1 o : 180
Time : 2 Hours ] { Full Marks : 450
Y ;2 gog | [ QT : 450
Instructions :

Note:

This paper consists of Objective Type Questions and is divided into two
Sections (I & IT) as under :

g TE-9F agaeediy Ul R aia ® wen @ @vel (I & 1), S affa 2 #
faramr 2
(a) Section - I : Consists of 120 Objective Type Questions on General

Awareness, Mental Ability, Comprehension and’Subject Awareness in
some major subjects.

FUS - [ : ¥ 120 SgfASA T RN §M, ARG IR 70 P R
fawal & w9 R smfa 2

(b) Section - II : Consists of 30 Objective Type Questions on (I} English
Language and (II) Hindi Language.
oS ~ I : 9 30 sgfamadiiy S (1) siueh wwr ofR () R= w1 @) smenfa
gl

The candidate is required to attempt as many questions as he/she can of

Section-I, and Questions on any one of the two Language Papers (I) English or
(I) Hindi in Section-II.

Fwdt | onfd 2 5 @ue-l ot @Uell B (1) USh I (D) R W wH B
ARFRE T B BF BN |
(i) Each question carries 3 (three) marks. One mark will be deducted for each

incorrect answer. Zero mark will be awarded for each unattempted
question.

TlH U 3 W%m%lmﬂaﬁaﬁ?a}mwwmmi
TAF FTART Ue HT Wb T B |

P.T.O.
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1.

(ii) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

it HIte dofead STk ¥et SR @ fae udig 81, @) oo Y e g

(iii) Each question is followed by four alternative answers (1), (2), (3) and (4).
One of these answers is correct. Select the correct and record it against the
relevant question in the ANSWER-SHEET by darkening the circle with Ball
Point Pen as per guidelines.

URE T B g dafons TR gEm A # R (1), (2), (3) T (4) WAt |
ey war ¥4 g Q Dael o SR B Wl ¥ ) 9d SR gt qen s9a W
F SR-IBE # aare=h yra @ wwn iwgar s g (e e e
@ge U gRT ST P IAFY |

SECTION -1
gGrs - |

As an emotion love is a combination of :

€I) Joy and acceptance (2) Care and joy

(3) Joy and anticipation {4) None of the above

"I B HU A UW WA B

(1) &Y T Wpfar B (2) ufet 7 8 @7

(3) =¥ 9 g @1 4) Sudaa § P 7
Cognition refers to powers of :

(1) examination (2) learning (3) evaluation (4) training
W w1 ey e § @ ey @ 8 v

(1) wegor (2) srferms (3) qEiHA (4) wi¥mEm
Which one of the following is net a method of psychological assessment ?
(1) Observation (2) Case Study

(3) Interview (4} Self learning

AAE qeaed o = A 9 B ge A 78 8 7

(1) Igatia (2) wfeg Rvys e

(3) RN 4) st
(2)
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4. Hierarchical model of intelligence was developed by :

(1) Arthur Jensen (2) ]. P. Guilford
(3) Charles Spearman (4) Alfred Binet
§f& @ W wiee uw @ Remw e fear ?
(1) MR = (2) o o firemE
(3) wred WA (4) wahs fan
5. Classification of personality into extrovert and introvert was proposed by :
(1) Friedman and Rosenman (2) CarlJung
(3) Gordon Allport (4) H.]J. Eysenick
e &1 9 qun sierfd) st faraa g wwanfag fsar Ty ?
(1) W der JEaT (2) & o
(3) ST TS (4) To Tio AMZAfD

6. Main aim of Gestalt therapy is to :
1) increase in individuals self awarencss
(2) increase in individuals' intelligence
(3) reduce emotional anxiety
(4) control mood swings

LT B IHIR BT 987 S ¥
(1) & 2m (@) # gfg
(2) =@ # gfe A 3fx
(3) wafe e § i
(4) TaEEN P ITR-TEE R

7. Which one of the following pairs is not well matched ?

(1) Stereotype : cluster of ideas

(2) prejudice :  negative attitude

(3) anxiety :  feeling of neglect and indifference
(4) stress :  mood swings

Preafies & i g it e 8 2

(1) %% Wy e e v

(2) gatus : TRRITS JNGRY

(3) Fram S 1 5021 e £ ) et B I 1

(4) =g D HERET H SUR-UgE

{(3) P.T.O.
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8. Which one of the following is not true for a team ?

(1) Itis a special group £2) Members have diverse aims
(3) It creates positive synergy (4) There is coordinated work
W & forg Frefofed 3 9 w1 v oy 78 202

(1) & U e e @ (2) wewl @ Ry siww §

(3) 9V yvTTe WEd ST Bk & (4) 3 wEhua e e
9. Who propounded psycho-dynamic theory ?

(1) CarlJung (2) Victor Frenkel
(3) Albert Ellis (4) None of the above
Rrer widenfre mifte frgia wnfa far ?
(1) T ) frex B
(3) vowe ufermt (4) ST 7 w1 TE
10.  Which one of the following is not an element of learning ?
(1) change in behaviour (2) an experience
(3) change must be permanent {4} punishment is essential for learning

frefolRee 3 @ 39 1o e o o o1 s @Y 27
(1) =aeR ¥ aRedT (2) T Ia
(3) B # g arer RadfF wE & (@) wom e F aifart =@

11.  'Self Report method' is used to measure :

(1) emotion (2) motive (3) attitude (4) personality
T A @1 v B e A e @ ?
(1) & (2) sfagRoen (3) sfrgRr (4) =afra
12. Which one is not the characteristics of homeostasis ?
(1) body temperature (2) blood sugar
(3) blood pressure (@) tove and hate feelings
ferferRaa 4 & #-1 waRefty a1 w98 & 7
(1) ToR® (2) YT BRI

(3) ¥ =A™ (4) 99 T gom BT W9
(4)
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14,

15.

16.

17.

18.

11U/104/28 (Set — 1)

Fantasy is assessment of :

(1) reality | (2) danger

(3) funand frolic (4) a state of dreams
FA1S BT IHAT ©

(1) g @1 (2) TR B

(3) TR BT @) = @ Rerfy &1
Schizophrenia refers to splitting of :

(1) mind (2) emotions

(3) thought process (4) hairs

FaRre e B 8

(1) 57 @1 (2) E3 B

(3) farom ufdar & (4) 9@ @B

Who among the following explained emotions as embedded in the body
response to a stimulus ?

(1) James-Lange (2) Mcdougal (3) Freud (4) Adler
ﬁwﬁvﬁﬁﬁﬁﬁmﬁwﬁsﬂﬁﬂs@?a&ﬁﬂﬁeﬁwzﬁuﬁrqﬁﬁmw
aRome & ?

(1) o=E-ai (2) AHgTA (3) IS (4) TSR

Third battle of Panipat took place in :

iR 3 D e T g 7 | -
(1) 1526 ) 1748 3) 1761 @) 1777

How many Anglo-Maratha wars took place ?

(1) one @) two (3) three @) four
o Sire-a_eT 45 8¢ 7 |

(1) @ @ @ 4 TR

The battle of Plassey in 1757 was fought between English East India Company
and :

(1) French East India Company (2) Mir Jafar

(3) Alivardi Khan (4) Siraj-ud-daulah

1757 % e 1 T o S SR B e R § @ R e g ?
(1) Wi fe e wer (2) #R R

(3) oreigdl @™ (4) RRIgEE

(5) P.T.O.
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19.

20.

21.

22,

23.

24.

25.

Who introduced Subsidiary alliance system in India ?

{1) Lord Wellesley (2) Lord Clive

(3) Lord Cornwallis (4) Lord Hastings

ke § weraes A Af e s @ ?

(1) o7 Jerarelt (2) & Telgd

(3) <s @HaTfeRy (4) o< R

Who amongst the following were not subjugated after the third Maratha war ?
(1) Holkar's (2) Scindias (3) Peshwas (4) Ranjit Singh

AR WRTeT g€ @ wear Fefafaa 4 9w e & w78 far s wer an
(1) B (2) Rk (3) v=Tar (4) wfa Re

Doctrine of Lapse was introduced in India :

oG Y & YRA § $9 dEifag g T ?

(1) 1757 (2) 1761 (3) 1817 (4) 1850
Who among the following effected the partition of Bengal ?

(1) Lord Curzon (2) Lord Chelmsford

(3) Lord Linlithgo (4) Lord Wavel

e 1 fonmrom FrefoRea W @ fhem e ?

(1) oS o (2) oI ARHES

(3) =S feraforermy (4) e A

Jalianwalla 'kand' happened in :

Sferdiarell wis @9 afed gan ?

(1) 1917 2) 1919 (3) 1921 (4) 1924
The Government of India Act was passed in:

a3 3 yae B qIR g ?

(1) 1932 2) 1935 (3) 1937 (4) 1929

Which among the following Europeans were the last to arrive as tradersin
preindependent India ?

(1) Dutch (2) English (3) French (4) Portuguese
wRd ¥ wdIm @ uge frefafag § 9 6w 2w 9l wew 918 ¥ FuR w9 A
(1) == (2) sfgs (3) widireR (4) JerTe

(6)



27.

31.

32.
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The British removed ruler of which of the states on the ground of misgovernance ?

(1) Avadh (2) Jhansi (3) Nagpur (4) Satara
Preifara § ¥ fbg wow @ WP B RARY gRT W™ IR @ SRV s T 7
1) e (2) iR (3) TR 4) \a™
Who among the following founded the city of Allahabad ?

(1) Akbar (2) Jahangir (3) Ashoka (4) Shahjahan
FAEEIR WER @ frefefm F ¥ fFe qwmn ?

€1) PR (2) wERiR (3) s (4) IETET
East India Company was established in :

e R Tl N RmoT w9 S 7

(1) 1600 (2) 1708 (3) 1702 (4) 1710

‘Do or die' movement is also known as :

(1) Civil disobedience movement (2) Non cooperation movement
£3) Quit India movement (4) Khilafat movement

FA A WY AR P A A A I I s R ?

(1) | Ira=m AR (2) g A

(3) TRA B! IS () Rgeea g

In whose reign, was the Treaty of Chittor' was signed between the Mughals
and Rana of Mewar ? '

(1) Akbar (2) Jahangir (3) Babar (4) Shahjahan
i ¥ @ foas woae § et 9 Fag & won & Wy | wenfi gf ?

(1) PR (2) wErR (3) T=R (4) wEwEl

Green revolution happened in India in which of the following Five Year Plans ?
(1) First (2) Second (3) Third (4) None of these
IRa ¥ TR Hify FrafoRea § ¥ & 9o § a/9 g8 ? -
(1) W™ (2 e (3) T @) ¥ g T

Sarva Shiksha Abhiyan aims at providing compulsory education to children in

the age group :

(1) <6years (2) 4toldyears (3) 6toldyears (4) >10years

gﬁﬁmmﬁuﬁﬁmaﬂgaﬁ%aﬁﬁaﬁaﬁmﬂﬁmwmﬁwmm
?

(1) 638 | &0 (2) 49 14Td (3) 6% 1479 (4) 10a¥ & fds

(7) | P.T.O.
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33.

37.

Share of agricultural sector in GDP of India in the year 2007-08 was in the range
(1) 10-15percent (2) 15-20 percent (3) 20-22 percent (4) 22-25 percent
a¥ 2007-08 ¥ R A wHe TG S ¥ P &x F RBew v

(1) 10-15ufder (2) 1520ufe (3) 20-2ufdwm (4) 22-25 yfoea

Which among the following items is the largest foreign exchange earner
India in 2007-08 ? '

(1) Tea (2) Coffee (3) Oilcakes (4) Rice
7§ 2007-08 #.-9a frafefa ¥ @ 1@ e w31 AR T Il a1 ?
1) = 2) w1 3) @ (4) =<
Timespan of the 11th Five Year Plan is :

Redl Feadta Fror W T @

(1) 2006-11 (2) 2007-12 (3) 2008-12 (4) 2005-10

In which of the following conditions there will be no profit and no loss for
firm?

(1) MC = AR () AR=AC

(3) AC=MR (4) None of the above

s B for Frafafere § A Rw T Ruf ¥ 7 @i ok 7 o @ Rafy o
(1) g sma = sa I 2) a3 = 3hwg ar@

(3) ot @ =g oM@ @) v ¥ =g T

What is not true for socialism ?
(1) there are free markets
(2) there is central planning
(3) there are many controls in the economy
(4) there is state owners}ﬁp of land and capital
s & fre PrefiRea & & 7 v ww T ?
(1) T wEd FoR B §
(2) =i = e e B 3
(3) T sfaaen # e fEw B ¥
(4) Yoh e 9 R Tow B PR B
(8)
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38. Why is diamond costly ?

40.

M.

42.

(1) it sparkles (2) it is hardest substance

{3) it is scarce (4) it is liked by rich people

A |&m 41 v @ 7

(1) o owe B 2 (2) ¥E WY FOR W §

(3) UE g B @) 7E wg i gRY Uwe f e @
When total utility is maximum, marginal utility is :

(1) maximum (2) zero 3) nega}ive (4) minimum
m@amﬁmmaﬁaﬂmm&mﬁw g2

@) sfrma @) T4 (3) FHS @ g
Which among the following cost continuously increases with production ?
(1) average cost (2) marginal cost

(3) average fixed cost {4) variable cost
ﬁﬂﬁrﬁﬂﬁﬁaﬂﬂ-ﬁmmﬂaﬁwa@%mﬁiﬁ?aﬁ%?

(1) 3T ama (2) Wit ST

(3) s Rer arra (4) IRadT=ie ara

Which among the following tax is levied by the state government ?

(1) Income Tax (2) Entertainment Tax

(3) Corporate Tax (4) Toll Tax

Preffed § X B @ B I WER GRT FRT A B 7

(1) AR (2) FARGF B

(3) frm o @ 9h =

Who among the following is the Chairman of National Development Council ?
(1) President of India (%) Prime Minister of India

(3) Speaker of Lok Sabha (4) Home Minister

Freiifed & @ A I e ORYE B e gl 8 ?

(1) 9RE $T I5UR (2) "RA T T

(3) T B e @) e

Among the following, who gave the welfare oriented definition of economics ?

(1) AdamSmith (2) A.C.Pigou (3 Alfred Marshall (4) L. Robbins

Preforfge 3 & e arfome &Y e amenRa afwrer § ?

(1) T Raw Q) T dody  (3) Teb AR (4) TFo W
{(9) P.T.O.
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44-

47.

49.

If the quantity of money in circulation is doubled then according to the Fisher
equation the value of money will be :

(1) doubled {2) halved

(3) remain unchanged (4) unpredictable
uﬁgﬂﬁgﬁﬁﬁmﬁmﬁﬁfmméwwmwﬁ
T

(1) &N @) s

(3) smRafRFa W @) P

Which among the following taxes can be shifted ?

(1) Income Tax (2) Corporate Tax (3) Toll Tax t4) Excise duty
Prefafeg § ¥ fra o= @ Ratda R o we g ?

(1) ImgF= (2) e &) (3) v (4) IE Y&
Who among the following was not the leader of non-alignment movement ?
(1) Jawahar Lal Nehru (2) Gamal Abdul Nassar

(3) Joseph Broz Tito (1) Charles De Galle

Prefaftag § @ oF o PR e AT o @ TE o ?

(1) TIEER A e (2) THIE el RN

(3) wiRw @9 A1 (4) = e

Which one of the following is not an essential characteristics of the 'State’ ?
(1) population (2) territory (3) political parties (4) sovereignty
e § & ¥ T o ¥ g Rdar 78 § ?

(1) S (2) TR ax ) IJorEfo® T (4) Ewar

On which of the following years, the age to vote was reduced to 18 years in
India ?

Aty 3 & fra 9§ % aRa @ waER @ arg TEER 1B W T T ?
(1) 1977 (2) 1984 3) 1989 4) 1991

Who among the following was the Prime Minister of India just before Smt. Indire
Gandhi become the Prime Minister ?

(1) Lal Bahadur Shastri (2) Morarji Desai

(3) Ch. Charan Singh ¢4} Gulzari Lal Nanda
mgﬁﬂﬁ?ﬁﬁmﬁﬁ}aﬁmﬁﬁﬁf@ﬁﬁﬁﬁ?@iw.ﬁ
RETHA o 7

(1) @l TBTER AR (2) ¥RRoN Tard

(3) Ao =y Rig (@) TASR e TR

(10)
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National Development Council is chaired by :

(1) President of India (2) Vice President of India

£3) Prime Minister of India (4) Speaker of Lok Sabha

I fawrg aReg &1 gaefy o9 & °?

(1) RS &1 Iegufa (2) RT BT ST

(3) WRA P gHAHH (4) AT AT BT ML

Right is :

(1) What I want (2} What I am entitled to

(3) What I think I should possess (4) What I should possess over others
AFR B : o

(1) ¥ Fan = § 2) 3% 7 Whghy @

3 T = fawn R (4) TR & I AW 99 T B Ay
According to Karl Marx, inequality in the society is because of :

(1) aptitude (2) natural gifts

(3) private property (4) education

HIel W’ B ATHR FATS # fAwHaT 1 HROT B

(1) sfagfer 2) wFfa® <

(3) ol wwfy 4) Rrn

Who amongst the following was elected to Chief Ministership of a State most
number of times ?

(1) Sushri Mayawati {2) Sri Jyoti Basu

(3) Sri Bhajan Lal (4) Smt. Sheela Dikshit
Feafafea § & 919 v aed 3 IR I5T @1 T g T ?
(1) N "r=mEd (2) & =ifa ag

(3) i wwr e (4) it er Sfda
Universal declaration of Human Rights took place in :

AANRER B TS o g8 -

(1) 1917 # (2) 1948 ® (3) 1933 # (4) 1962 &

(11) P.T.O.
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§5. Who propounded "Harm Principles” ?

(1) J.S. Mill (2) L. Kant .
(3) 1. Locke, (4) Frederich Neitsze
frafalea & @ fRrm a1 @1 Rgre gforfea fear 2
(1) Sto THo fAe @) amdo BT
(3) wlo @it® (4) weRa
56. Maximum number of seats that can be filled up in Rajya Sabha are :
I 1 B eifbimaE Oie o e
1) 238 2 245 (3) 240 . ) 250
57. What is 'Panchsheel’ ?
(1) afolklore {2) principle of peaceful co-existence
(3) aSanskrit epic (4) asect of Hindu religion
‘Gaeer Far & ?
(1) IRIRG e WE @) wifrgst weefae & P
(3) HEpa @ HETHTH (4) fg o™ @1 HyR™

58. Coalition Party government came to power at the centrein:

B ¥ Ty Ul &) AR YA $e ARaw | g ?

(1) 1989 & 1991 (3) 1994 (4) 2004
59. Who was the seeorid‘President of India ?

(1) Rajendra Prasad (2) S.Radhakrishnan

(3) Zakir Husain (4) V.V.Giri

R & R Tsufa B & ?

(1) or% JES (2) THo NPT

(3) wfax g9 4) o fro AR
60. Duration of 'Emergency’ Period in India was approximately :

(1) 9 months (2} 19 months (3) 23 months (4) 29 months

HRA W AATHET B FEI T o

(1) 97 (2) 19 78 (3) 23 w8 @) 29 =

(12)
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"Our Common Future" is related to :

(1) World's environment (2) Indias food and population problem
(3) Peace and security in Middle east (4) Development of Africa

TR BT TER &1 ey faa & ?

(1) faeguataror (2) RS B WY [§ SFRESAT DY AT
(3) weuqd ¥ Wiy T FRaw 4) s o1 faew

"Food chain" refers to interrelationship between : -

(1) plants and animals (2) farm produce and bakeries

(3) export and import of food items (4) farm, wholesaler and consumer
Qe g a1 d6y e sradaf 4 R ?

(1) Trufy Tem 9 (2) Bfex Swrea e g A

(3) @ =t 1 s T Pafa (4) |4, o famar ik soi
In which of the following places Corals reefs are not found in India ?

(1)} Gulf of Mannar (2) Lakshadweep

{3) Sunderbans (4) Andaman and Nicobar Islands
HRa A Y A gz ot T o awh ¥ 7

(1) =R 9 &S (2) wE

(3) g=<=7 (4) 39 aur FAPER &9

The Unit of measurement of distance in Universe is the distance between :
(1) Sun and Earth (2) Earth and Moon

(3) Moon and Sun (4) Jupiter and Sun

T g8 P T A g 2, 78 g W

(1) & 7on Rt @ g @ ) yedt T Wi D wed R}

(3) wwn ol g & g § (4) < gewfy oo 9@ @ Wy
Russian space station is called :

(1) Sputnik (2) Mir (3) Charnobyl (4) Rostow
w4 il e o1 7w

(1) wafas 2 AR (3) aEfae (4) I

(13) P.T.O.
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67.

70.

Degree of water pollution in river water is measured in terms of quantity of
presence of which of the following gases in water ?

(1) Nitrogen {2) Oxygen (3) Ozone (4) Chlorine
Gfedl & urlt ¥ wguer A WET F A9 el F R A o SuRed A | g
T S g ?

(1) R (2) sifedreT (3) 3= (4) FE=

Génerally in bottles of medicine in powder or tablet form a small pouch of silica
gelis keptto:

(1) absorb moisture (2) absorb bad smell

(3) prevent fuhgus_ infection (4) destroy bacterial growth

M 3Er gof & w9 F T H qaa § Rferwr S A B dieddt @ @
Steg o :

(1) 0 P |G (2) ga @1 |

(3) TEHT D GHAOT B AHAI (4) <ham] & Hyfy @1 Q@
Endoscopy is based on the principle of :

{1) total internal reflection (2) total refraction

(3) polarization (4) complete penetration of rays
TR i ARy e o= smRa 8 ?

(1) wqef siaRe W (2) et faacds

3) gam (4) ol 31 Yoi STR-UR & o
Haemophilia as a hereditary factor relates to :

(1) decline in Hemoglobin level (2) rhumatic heart conditon .
(3) decline in WBC ¢4) tendency of non-coagulation of blood
RS a8 B WU A Efsferar BT way 2

(1) Arafe w § a0 (2) EPR® gea ¥ sEwy

(3) W @ BIFT § HA (4) <T@ &1 W 1 8 B yghy
Muscular tiredness after doing hard work for long hours is due to :

(1) lack of oxygen (2) loss of glucose in the body

{3) accumulation of lactic acid (4) accumulation of calories

R AP HOR ARG 59 T & SRY AEIREAT § ge@Ee o1 IR S

(1) IFRIST & T (2) R ¥ gIrE & Fw

(3) afdew o7 &1 Hay (4) DI &1 Hog

(14)
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Stones found in kidney are mainly composed of :

(1) Sodium chloride - {2) Calcium oxalate

(3) Sodium acetate {4) Calcium carbonate

& ¥ gt oY areht verdt ¥ g w9 N ra o #

(1) W TS ) e st

(3) wifean wiee (4) dfaw FEtT

"Athlete foot" is caused by :

(1) bacteria {2) fungus (3) tape worm (4) protozoa
QA | HT PRI & ¢ -

(1) iy @) wge @) s (4) s

When a person donates an eye, which part of it is transplanted to another
person ?
(1) iris (2) cornea (3) retina (4) lens

W P18 Afda @ $T I DRAT & A SEDT PA-U 90T TR Afdd B wRwifda
f&ar e 8 7

(1) g (2) i (3) e (4) ==
Insulin is produced in human body by which gland/organ ?

(1) liver (2) pancreas (3) piiuitary (4) thyroid
ArE R ¥ gl faw o /R 9 s B 8 7

1) TFa (2) s (3) urpy (4) arigs
Which among the following is not a radioactive elements ?

(1) Plutonium (2) Uranium (3) Thorium (4) Barium
Freifser # ¥ 2 v Waerdt wwet 7o &7

(1) <R ) RFu (3) e 4) IRz
Which among the following rays emanate from cobalt 60 ?

{1) Gamma ray and Beta ray (2) Alpha ray

(3) Xrays _ (4) Alpha ray and X ray

Flace 60 W Fr=foie # oW o) faerh & 7 |

(1) = fvor e der fwor () T o

(3) v faor (4) ot fRer T v e

(15) P.T.O.
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77.

78.

79.

81.

Which of the following test is conducted to determine the paternity of a child ?

(1) protein analysis (2) chromosome analysis

(3) quantitative DNA analysis (4) DNA finger printing

Rrg & gy wderor 2g Ffalea & & o weor 31 far war 8 7

(1) W= fawemmw (2) TR fwewo

(3) S QY fygemor (4) dg fR i

The characteristic smell of garlic is due to presence of :

(1) sulphur compound (2) acetic compound

(3) chloro compound (4) benzene compound

TEGT B AERE T B HROT ST sulRufy | ?

(1) &R & (2) vhufes A a1

(3) TR e &7 @) = dfs @1

High concentration of spray of DDT will be reflected by its presence in :
(1) crickets (2) animals (3) serpents 4) frogs
DDT & fogHE & SRY g6aT 987 gan wigvr 1 § § fad waf¥ia & ?
1) R (2) = (3) i @) =
Which among the following acts as biofertilizer for paddy crop ?

(1) Azotobacter (2) blue-green Algae

(3) Ryzobrium species (4) NPK fertilizer

fr=iifra A A P @ a9 A AN F ST SRS D I F W Bar ¥ 7
(1) YR (2) re-eRa dare

(3) gSEw wenfaar (4) = % P gdvE

Silkworm produces silk making material from which part of his body ?
(1) egg (2) dead skin (3) ovum {4) cacoon
T BT Dic WEN G M BT GER IWR D B W @ g9 8 ?

(1) s (2) eI

(3 R (4) TR R Rraer gan ek

(16)
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The insect resistent variety of cotton has been developed by inserting a gene
through genetic engineering which has been taken from :

(1) virus (2) bacteria (3) insect (4) plant

maﬁgﬂzﬁﬁtﬂma}mﬁﬁuﬁwwﬁmﬁmaﬂ#@ﬁ?aﬁ
EIE | =

M g @ dEgE @) Fe @ H
Which among the following star is nearest to earth ?

(1) Dhruva (2) Alpha Centauri

{3) Sun (4) Lubdhak

freferad # 9 B9 (P a1 gt @ W Fiee § 7

(1) 9@ (2) T W

3) @) gus

Which among the following is not true for starch and cellulose ?
{1) both import colour to iodine solution

(2) both have glucose molecule

(3) both are botanical in nature

(4) both are non poisonous

werd e doge & fog 9 3 | w1 v v T4 27
(1) < S Bel B T USH BRA B

(2) < # TP BT A B B

(3) I iRt et &

(4) I IR wEde uqret §

Which among the following is known as World Environment Day ?

(1) Juneb (2) October 3 (3) December 22 (4) March 1
Freaferfee & & 2 fva wafeor Raw & w4 ST S & ?

(1) SE S5 (2) o/ 3 (3) = 22 (4) w1 1
Which Indian state has the largest oil refining and exporting capacity ?
(1) Assam (2) Maharashtra (3) West Bengal (4) Gujrat
frefeafaa s & A A faad da dvE 7 Pata s watfe & 2

(1) e (2) R (3) URTA T (4) TR

(17) P.T.O.
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87.

89.

91.

Which one of the following service industry earned largest foreign exchange for
India in 2010-11 ?

{1) Software (2) Telecom
(3) Drugs and Pharmaceuticals {4) Marine insurance

4Ry § Frfofaa 4 4 B9 @ 70 9 2010-11 F fRA w1 71 9 o
e faar ?

(1) wieaax (2) R H9EIR
Q) T (4) STRISRFD 4m

In last 10 years which industry in India has been developed in the public
sector ?

(1) Steel . (2) Sugar

(3) Cotton textile {4) Railway equipment

are A e 10 961 § &9 Te 9ur o wdfe a3 § wea 39w e gan ?
(1) T @) 4 (3) P (4) X <

In the last 5 years which one of the following has emerged as a major irritant
for Indian industry ?

(1) land availability (2) technology
(3) capital ' (4) government regulation

gﬂﬂﬁ@ﬁ%fmﬁsﬁsaﬂﬁﬁmﬁ»ﬁqﬁﬁﬁﬁﬁwmﬁwmﬁw
?

(1) i N saq=aE (2) aFHADI

(3) o0 (@) s

A large refinery developed in U. P. is Jocated in :

(1) Sonebhadra  (2) Kanpur (3) Mathura (4) Agra
IR TR F i 1 w1 I M FREWET we few ¥ ?

(1) W= () IR @) = (4) s

A club has 108 members of this two third one males and rest are females.
Leaving 9 female members rest one all married. How many married females are
there ?

F g ¥ 108 wE § o @ e gow a9 sRent ¥ wRer # eew
¥y wft wew R ¥ av Rafe #feens 9 W fsah 2 7

(1) 36 (2) 18 3 27 4) 24
(18)
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95.
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A cloc}’c shows time as 15 hrs. If the hourhand is rotated in clock wise direction
by 135, the time will be :
(1) 17.30 hrs (2) 7.30 hrs (3) 830 hrs (4) 20.30 hrs

T T # 15.00 T §1 AR uve areh §E @ ) A 9 A Rew ¥ 1357 g
R s & @@ wwg 8R ?

(1) 17.30 9% (2) 7.30 (3) 8.30 7wt 4) 20.30 9%

If in a code MARCH is written as OCTE], then RETURN will be written as :
afe FE ¥ MARCH, OCTE]J forar wiram & & RETURN fRrar wirn
(1) TGVNTP (2) NRUTER (3) PCUVSO 4) TGVXTP

Yellow of egg is rich in which of the following ?

(1) Fat (2) Carbohydrate (3) Protein (4) Vitamin
3 BT 9 qan Pt ¥ ¥ fvert waR @

(1) == (2) wrteTEse (3) wEm @) Rfm
Which one of the soil is found most abundantly in India ?

(1) Red soil (2} Black soil (3) Alluvialsoil  (4) Laterite soil

fr=tifa & 9 o9 U@ 781 wra ¥ waR ot wE wr @ 7
(1) = B (2) @reh P 3) wiele B @) e

Which among the following is an odd one ?

{1} Pea (2) Gram (3) Masoor (4) Arhar
frr=feira § 9 a5 & s A T 2 ?

(1) "= (2) @ () ™R (4) 3REW
Plants absorb nitrogen as :

{1) Nitrate (2) Amines (3) Amides (4) Nitrite
9 RS @ e v N Hey § 7

(1) mEge (2 = (3) TArES (4) TEgTET
Largest cultivable area in India is under which of the following crops ?
(1) Wheat (2) Sugarcane (3) Cotton {4) Paddy
HRa % PR A R Wy At A e wow o R 7

(1) "% (2) =1 (3 wuw (4) ==

(19) P.T.O.
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99. Which among the following plateau/region is most rich in mineral wealth in

India ?

(1) Malwa (2) Vindhya range

(3) Deccan (4) Chhota Nagpur

ARG ¥ Frfelaa # & a9 1@ OR /&7 @ a9ar 4 Jed afes wig 8 ?

(1) = (2) fdear werst &=

(3) TaPA (4) B¥eT YR
100. Which among the following states produces gypsum in largest quantity ?

(1) Bihar (2) Madhya Pradesh

(3) Rajasthan (4) Karnataka

IRa % FrefaRen ¥ & foa wog # R v ot v & oy e 27

(1) ﬁ‘e'r\’ (2) 78 WS (3) vorRIA (4) FAicH
101. Which of the following delta of river is largest producer of Jute in India ?

¢I) Hoogly (2) Damodar (3) Ganga (4) Mahanadi

Ard ¥ {5 7 B Soer # 9 @ SweT wew e Bar & 7

(1) gl (2) MR (3) T (4) wEE
102. Kudremukh iron project is located in which of the following states in India ?

(1) Kerala (2) TamilNadu (3) Tharkhand (4) Chhattisgarh

ARG ¥ Fagd e @ yRarer &g voa # Rea g 7

(1) IRA (2) aferTg (3) TRETS (4) BN
103. Household is defined as a unit of persons who :

(1) have blood relation (2) live under same roof

(3) have common kitchen (4) are all adults

Tew Afdaal @ W gHE | el wWew

(1) % o Gey gar B (2) % Ba & 9y e &

G HTRATTAC & (4) Wit tirg &

104. Who amongst the following does not constitute a sect ?
(1) Lingayats (2) Radhaswami (3) Gorakhpanthi (%) Sikhs
Fraferfee ¥ ¥ P vo o g § i 78 far o @ ?
(1) fermaa (2) <™ (3) TiREged (@) R
(20)
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105. Scheduled Tribes are mentioned in the constitution of India in article :
R & G # JAonfad] &1 Soord Siau= & frg aRT 5 & 7

(1) 330 (2) 342 (3) 356 (4) 373
106. Who amongst the following gave stage theory of development of society ?
(1) Saint Simon {2} M. S, Srinivasan
(3) Karl Marx 4 J.S Mill
S &1 @ w7l (Stages) A Bxar 2, 9% Rigia faws faar ?
(1) ¥ W (2) THo THo Hfiramer
(3) et e (4) Sro THo firet
107. Folk group essentially has a common :
(1) economic interests (2) educational achievements
(3) religion (4) cultural characteristics
Ap TREE ) sifrard e @
(1) §9F anfdis fea (2) o s Syt
(3) @ A (4) WA WIRplas Aeror
108. Alimony means:
(1) division of property (2) money spent on illness
(3) allowance paid to a divorcee (4) pocket money for a wife
frratfeeT @1 ot 2 :
(1) HuRT &1 §EarI (2) T W g =g

3) TArEYE T & 9 T Frafig IR (@) N 3 o9 Td

109. Euthenics is a way of :
(1) retaining youthfulness
(2) improving one's economic status
(3) travelling economically
(4) adaptation to lifes circumstances to achieve comfort and efficiency
geirafie g ¥ §
(1) das T9Q = BT
(2) s anfdfe Rerfey gemes &1
(3) ey e &
(4) ST @ IRRFIT & JEET ¥ IRM T U B UG HIA BT
(21) P.T.O.
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110.

111,

112.

113.

114.

Agamy means:

(1) many marriages (2) one marriage

(3) no marriage (4) only one divorce in life
AfarE o HT FE @

(1) #¥ R (2) v faars

(3) ¥ fAare T (4) =T % DI (& AR TAD

What is not true for a coterie ? People have :

(1) common blood relation

(2) unlawful intent

(3) common desire to serve self interest

(4) common desire to form a pressure group

e @ fog = 1w Wy 1. A | | £ 2 S
(1) M & Hag ST B

(2) sfafm Steg B

(3) I 2a wEA @ B T

(4) T TE T A - g

Marx divided the society into classes on the basis of :

(1) religion (2) caste

(3) economic status (4) belief

o A W B I wier ¥

(1) ot & IR W (2) W & R W

(3) aiffs W 3 IR RN (@) wRE 9" B IR W
Indian National Army was founded in which of the following country ?
(1) Singapore (2) India (3) Japan {4) Burma
aroTe fig W @1 o fr S A gom o ?

(1) RemgR (2) urw (3) v @ st
Munda tribe is most copiously found in :

(1) Pauri Garhwal (2) Jabalpur (3) Chhota Nagpur (4) Jaisalmer
oI WAy HEt s § o wwn § 7

(1) " gEmE (2) AR (@) ORI ANR  (4) IR

(22)
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119,
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Which among the following Vedas is the oldest ?

(1) Samveda (2) Yajurveda (3) Rigveda (4) Atharvaveda
frfafad 3§ $H-a1 98 FEq QA g ?

(1) wrT (2) a9d= (3) F (4) vrdag
Kathakali is the classical dance of which of the following states ?

(1) Kerala (2) Andhra Pradesh

(3) Tamil Nadu (4) Karnataka

woder Frafafeaa § @ f5d o &1 gofiea T8 ?

1) o+ (2) g we= (3) dfferg (4) TACH

In the circle AB is 16 crn and OC is 6 cm. Then the diameter of the circle is :

(1) 14cm (2) 11 cm (3) 10cm {4) 20 cm

fed gv a@ & AB T 16 ¥ @ OC, 6 |9 &, o I &1 ™ & ¢
(1) 14 3R (2) 11 &R (3) 10 ¥ (4) 20 I

The missing number of the following series is :

S Rrcdh S ¥ e g e # -

4,8,9,27,16,64, ..cvervvernnnr , 125
(1) 15 2y 30 (3) 25 (4) 45
Which of the following pair is not correctly matched ?
(1) Abhinav Bindra - Shooting
(2) Michael Phelps - Swimming
{3) R. Ashwin - Chess
(4) Maria Sharapowa — Tennis
Rrefofes § & @ g g 787 £ 7
(1) s Rz - FreTevaTeh
(2) WEHS Hq - R
(3) 3Ro IRaw - LGS
(4) wiRar e - s

(23) P.T.O.
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120. 34 is related to 12 in the same way 59 is related to :
mw%uﬁwﬁﬁ%mﬂmwmﬁ%:
1) 459 () 149 (3) 389 1 479

SECTION — I
LANGUAGE-ENGLISH
(For Candidates Opting English Language)

Directions (Q. Nos. 121-124) : Select the word nearest in meaning to the given word.
121. Pardon

(1) forgive (2) plead (3) act 1) enjoy
122. Recollect

(1) gather (?) remember - (3) forget (4) please
123. Occupied

(1) employed (2) professional (3) idle () busv
124. Endure -

{1) tolerate (2) live (3) pacify (4) preserve

Directions (Q. Nos, 125-128) : Select the word opposite in meaning ‘o tie given word.
125. Miser

{1) spendthrift (2) liberal (3) strict (1) leader
126. Famous
(1) unfamous (2) infamous (3) popular (4} well-known

127. Knowledge

(1) learning (2) ignorance (3) wisdom (4} force
128. Despise
(1) detest (2) hate (3) relieve (1) love

Directions (Q. Nos. 129-132) : Select the word which can be substituted for the given group

of words.

129. The first speech delivered by a person :
(1) primitive (Z) maiden (3) virgin (4) modern

(24)
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130. A poem written on the death of some loved one :

(1) ode (2) lyric (3) elegy (4) epic
131. A small piece of potato :

(1) chunk (2} chip (3) bit (4) part
132. One who is interested in the welfare of women :

(1) feminine (2) effeminate (3) feminist (4) nurse

Directions (Q. Nos. 133-136) : Select the word which has been correctly spelt.

133. (1) superviser (2) superier (3) shepherd (4) voilent
134. (1) message (2) moviable (3) opinian (4) vilain
135. (1) belief (2) cerremony (3) jeluss (4) kichen
136. (1) complen (2) figur (3) invelope (4) interview
Directions (Q. Nos. 137-140) : Fill in the blanks with the correct word.
137. Thisisa poor ... for her house.

(1) cite (2) site (3) sight (4) seat
138. All........ Saket were present.

(1) except (2) accept (3) expect (4) aspect
139. These events happened during Akbar's ................ :

(1) rein (2) rain (3) reign (4) ruin
140. Which is the shortest ................. from Delhi to Agra ?

(1) root (2) route (3) rout (4) writ

Directions (Q. Nos. 141-144) : Select the part of speech of the underlined word in the given
sentences.

141, We often deceive ourselves.

(1) Personal pronoun (2) Possessive pronoun |

(3) Emphatic pronoun (1) Reflexive pronoun
142. He did it very nicely.

(1) Adjective (2) Adverb (3) Verb (4) Preposition
143. Sunil wants fo swim.

(1) Gerund (2) Infinitive

(3) Participle (4) Intransitive verb

(25) P.T.O.
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144. You must see a doctor.
(1) Main verb (23 Modal verb
(3) Transitive verb (4) Intransitive verb

Directions (Q. Nos. 145-148) : Select the correct tags to complete the following sentences.

145. The farmer grows food for the country, ......c..co.....

{I) doesn'the? (2) didn'the? (3) isn'tit? {4) won'the?
146. You have met her before, ...

(1) hasn'tshe? ) haven'tyou? (3) youhavent? () isn't she.
147. Shewon'thelp us, .o

{1) will she? (2) shall she? (3) isshe? (1) she will.
148. Everybody was drunk, .....ccoeeeiicns

(1) weren'tthey ? (2) wasn'the? (3) wasn't she? (4) aren't they ?

Directions (Q. Nos, 149-150) : Choose the correct option to correct the underlined part of
the given sentences.

149. He asked me who was that boy ?

(1) who is that boy (2) who that boy is
{3) who that boy was '~ (4) who were those boyvs
150. Shiva resembles with my friend :

(1) from my friend (2) my friend
(3) through my friend (4) for my friend

SECTION - 1I

grg -1l
war — 2=
(= o 91e REnfal @ fow)

) g T B TR-gR e SR A w & Ry W 9T A te €1 99 9el IR
g |
151. W o g9 F=T &9

ST RT-SRT 9T WY — e Ul @1 EEER B ¥ 7

(1) oER s (2) R (3) Y& (b ueegr™d
152. ‘anfaS wew &7 <aldan B 8 ?
) SR (2) |G (3) H3H (1) =Rait

(26)
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154.
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156.

157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

eI’ fhaa) 3=t 8 ?

(27)

(1) e Rig f e (2) #ER UTH

(3) AfErRiRRY T (4) 9rEH A Tgaal

el o= frem forar & 2

(1) e (2) woEER TR (3) WIS 4) =
=8 @ a1 e w1 T FY wEd € 7

(1) 3FiR gud (2) TP g

(3) wrdg 4) werdR va BEd

IS BT PI-A TR GEHAE T OB 7

(1) W (2) 3FER (3) 3IrgEY (@) vfcred
YT BT DA WeR qateard FE ® 7

(1) s (2) &I (3) sreey (4) YR
G BT BIF-AT g gAardy 7@ § 7

(1) wr=y (2) ¥R (3) & (4) ==
e TG BT e waft sy

(1) = (2) ARIRYT (3) mT=m (4) siftnren
o & wd fRem w2 ?

1) 99 (2) e (3) g (4) v
Wﬂﬂé’fﬁ?ﬁﬁﬂﬁq

(1) gomH (2) fspm (3) ™ (4) fram
gy &1 ) e a7 2 ?

(1) ¥9@ (2) foqg 3 = @) S
GTEX BT T oA I FT 8 7P

(1) TR (2) frmior (3) TS (4) TERA
PUST HT HEl Teqq gy

(1) wde (2) wrag (3) o (4) w4
T H A o T 8 7

(1) +f (2) frtfey (3) g (4) faga
R W mFAT B — iy 8 (@ 9el ¥ gy

(1) famr (2) MR (3) emmEra (4) «fdwra

11U/104/28 (Set - 1)
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167.
168.
169.
170.

171.

172.
173.
174,
175.
176.
177.
178.
179,

180.

Y AR S 9 & — A 3 U AR Hat P

() @ (2) 3@ey (3) ™9 (4) 3R
Tl o B BRT TER B T G 8G (D GEl AR FTF 7

(1) fremef (2 =afaw (3) wAEHl (4) Teroeat
T FHA TAT TR @ WE o @ & 7

(1) fafe= & (2) RS BT (3) IR 9 (4) fafire 2my
F HARAT GETaR BT ol I FFa DI

(1) A I (2) 9soord B (3) FET A (4) fafea w==m
T BT 9T o qelaR @ G s @1 wgq By

(1) FmEm 547 (2) @TH

(3) 980 @RI B (4) R PHT FRA BT

‘g’ ¥ pE- 9 e g 7

(1) ™ 2 9f& 3) Ior (4) srnfe wfer
IggF § DA A T 7

(1) 7o 2) g% 3y 7o (4) st wfer
T P fhaT ST AT E 7

(1) ¥ @ @ (3) @ @) R

T O g5 99 R | oW g — 9fa | S IAGR 8§ 7

(1) w1 (2) SN (3) Sww (1) SEER™
‘TIET B H §f [ba oR0 811 & ¢

(1) =« (2) = (3) IR ) =

A DI Do g $iY, G, 9 — ofed § S9-91 JeeR © 7

(1) @ (2) 77 (3) T (4) S
T A - T &7

(1) sgdife (2) TGN (3) FuRY 1) g8
ATVY B BY B A ?

(1) == (2) BRFEN (3) AraE™ (4) M
e s o & ol 2 ? |

(1) TOeiex g9 (2) AFmeiA (3) U () Rt

(28)



sgfRfat & forg Adw

(59 gRaST & JUF STARULYS W W WA & B IO R Bae Fiofl /Bl T-@ige 37 4 8 )

1.

2.

3.

10.

11.

12.
13.
14.

7e gRa®T e & 10 e @ esrr 1 @ o & geaw 7 ol g AE T ek #18
U gl 8 21 gRA®T IWYH U T W gES I qoprel wel et @ Qe
et gEs B gHd gRaST we R

et wad ¥ forerer ¥R HAVEYF @ IfoRem, o W W 9% F g orrer Ay §
q @ _

SRUA o W A mn ¥ g9 7 ar 0 sk 7 & Bya Y/ guvr suv-um T8
fear ST 1 Baer Sy &1 8 YodieT [T G

. AU HGHATE TYT TEEYA BT HAIE AYH FGVULYT TR 99 | PR wH W

foreg |

. UUUT @ HYT YO WX U9 | HT yg@A@ feiRa T oY ford qar Jre &g gal
@ TET Y T TEI-STET STavyE E 98 Fe-giaer & BEE T W B TRV

Sfag v O ford |

. &flo THo IRo T3 W ITFHiG A&, Fe-JRAPT F&1 § e d& =72 ¢ 1) au

YR-JRIIST TR ST Aid WAl 3iR 3o THo 3o UH w&dT 1 WaeT = TTe@d &
arwfy =t &)

. Sgdaa ufaftedy # @ A oReds Py Flws gRT ywltm 891 e s uE U

T AwE B 9T A/ AR |

. FEGRTST ¥ 7% TE © AR dafous IR A M | 71T 5T @ d9id g @

ferd syl svv-gF @ WG gfdg @ WA Q7 T g7 B TOV-99 @ HIF §O 9
R T AR @ srgere O & WeT B B

L IF T D I D R B9 v & g9 B IRer | T A P o F AT HA

TR 3dT Yeh gl & YUl WRA R IE ITR A AT A |

17 7 & v g7 wrE) FRT o TR Sgar 78 o wEHar B/ e Iy R uem
&1 goe 7 397 wed & o wefm ufdm @ W RY T Wit 9ot @ @l uie T
¥ ue W o Ry W
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